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(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet %2
without sticker seal and do not accept an open booklet.

(ii) Tally the number of pages and number of questions in the booklet with the information printed on the cover page.
Faulty booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should
be got replaced immediately by a correct booklet from the invigilator within the period of 5 minutes. Afterwards,
neither the Question Booklet will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR
Answer Sheet Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C) and (D). You have to darken the oval as indicated below on
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5. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper - II only. If you mark your
response at any place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

6. Rough Work is to be done in the end of this booklet.
7. If you write your Name, Roll Number, Phone Number or g_ut any mark on any part of the OMR Answer Sheet, except

for the space allotted for the relevant entries, which may disclose your identity, or use abusive ]anguage or em%loglaﬂy
a

other unfair means, such as change of response by scratching or using white fluid, you will render vourself e to 2
disqualification.

8. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and ¢%
must not carry it with you outside the Examination Hall. You are however, allowed to carry original question bookléet and <
duplicate copy of OMR Answer Sheet on conclusion of examination.

9. Use only Blue/Black Ball point pen.

10. Use of any calculator or any electronic devices or log table etc., are prohibited.
11. There shall be no negative marking.

12. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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1.

ECONOMICS
Paper - II

The marginal utility of money remains
constant in

{A) Marshall’s utility analysis
(B) Revealed preference hypothesis
(C) Indifference curve analysis

(D) Modern utility analysis

. Aproduction function indicates

relationship between inputs and
outputs.

(A) Technical
(B) Economic
(C) Social

(D) Scientific

. According to Friedman - Savage

hypothesis, which of the following
income groups are willing to take
risks to improve their lot ?

(A) Low income groups
(B) Middle income groups
(C) High income groups

(D) Both low and high income
groups

1. ollisll AlMict (R,

(A) Hgldett J0RIRL [QedwaMi

(B) wlAlcasd uesll [QeAmaHi

(C) Hg(RIYG as [AsAnQi

(D) wuYEs dRolel [QsAanami
RAR ¥ &

2. Geauteol (AR, Gauteotoll AUl

Ul Geuleall cell —oiy
galad 8.

(A) 2Easct

(B} w(els

(C) AHRBs

(D) dsuls

3. #lsNot — AA¥ URscUsl Yool ofl Aetiuiell
gl wlcs-ogall , Weltell uRRAAMT Y

sl HI2 ouM Aol daR ® ?

(A) Blot vuas %
(B) HeaH dllas el
(C) G uuas el

(D) [Arot ol G2 wilals el oial



4.

A two-person zero-summ game means
that the

(A) The gain of first person is equal
to his loss

(B) The gain of second person is
equal to his loss

(C) The sum of gains to one player is
equal to the losses to the other

(D) No one player gains or loses

. In which of the following aspects,

there is no difference between a
perfectly competitive and a monopoly
firm ?

(A) Number of sellers
(B) Entry and exit of firms
(C) Demand curve

(D) Cost curves

. The remuneration that a factor gets in

the next best alternative employment
is called

(A) Real wages
(B} Quasi rent
(C) Economic rent

(D) Opportunity cost

4. Vs A-callse-9o -5M WM ctoll
ud B %

(A) Y sl ol cet dofl Weell
OlAGR B

@) ol calel oll ctet dofl vilzedl
CRIR B

©
ca(5etofl Wlgell o &

(D) A8 uQl B cuet A asdl
ot2ll 3 apuadl «iell

5. oflAouniell U waHi yd
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(A) AucileAl vl
(B) Udlalloll Yl Aal olf@oliet
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(D) Wl asl
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7.

Which of the following statements is
not true about general equilibrium ?

(A) A general equilibrium studies
interrelationship among all related
sectors of the economy.

(B) There is no excess demand and
no excess supply.

(C) Each sector is indicated by three
equations.

(D) There should be as many dependent
equations as there are unknowns
in the economy.

“A situation in which it is impossible to
increase the welfare of one individual
without decreasing the welfare of
other individuals in the society” is
known as

(A) Pareto optimality
(B) Pareto improvement
(C) Kaldor welfare criterion

(D} Hicks welfare criterion

The social welfare function is given
by

(A) Alfred Marshall
(B) Pigou
(C) Hicks and Kaldor

(D) Abram Bergson

7. AdAHA UM Ao

Al Aouniell 53 Qo uty otell ?

(A) As Aduled UHAAL , A clotoll
A i@ A el
UG oAl AeARUSR &

(B) ctuRio{laion ual dtAed
YRasl &l otsll

(C) €35 Aotal 2el uHlse <3
claia ®

(D) WA 1l Bl vistic ucARRA
Al dzclles vl s wHls200
glal lesu

8. As Al URRAR ¥ Bui , wHxoll

ol AR scUHl w2Lsl sal
Raa, As calbell scuRMl dw
$20lle] Wl B” AN

(A) Y22l SRl

(B) Q23 Yuil
(C) 5LES1R SCRAURL HIUES

(D) &lsu scaul HUES
3% AauaHl 2d B

9. UHYS scRL (AR

(A) veks Wl
(B) [y
(C) &lst wA s1cAl2

(D) AU olat
GLRL viU UMl e B



10.

11.

12.

13.

A. Akerlof, in his paper “The Market
for Lemons” took the example of

(A) Used cars

(B) Used computers

(C) Second hand houses

(D) Second hand mobile phones
Which one is the correct method

of measuring national income of a
country ?

(A) Value-Added Method

(B) Income Method

(C) Expenditure Method

(D) All of the above

In the Keynesian theory, employment
depends upon

(A) Effective Demand

(B) Effective Supply

(C) Effective Price

(D) Effective Income

Which one of the following is not true
formation ?

(A) APC + APS = 1
(B) 1 - APC = APS
(C) 1 - APS = APC
(D) APC - 1 = APS

10.

11.

12.

13.

3 ASAS  dAHell AUR.
"t 152 $12 CleuHl” Hi

(4) AURAA 51

(B) cuAACL 51124231

(C} A55805 U

(D) Acs55805 HIOUBEA Slodt o
GeleW Yy B,

As talofl Aflal was Huel wizoll
Al ugl AAQouniell 58 D ?
(A) yeaadel ugld

(B) s ugld

(C) wd ugld

(D) GuRell datn

38o{latet Rglcmi Aasoudl
(A) UUBBRS HIoL

(B) UUBRS Y8l

(C) USRS (Bud

(D) AUUBIRS vlicls
U BUHLR AW B,

a{l Aetimiol el 53] Wy (Aot
a2fl ?

(A) APC + APS = 1
(B) 1 - APC = APS
(C) 1- APS = APC
(D) APC - 1 = APS
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14. Which of the following is not an
assumption of classical theory ?

(A} Neutrality of money
(B) Wage price flexibility
(C) Involuntary unemployment

(D) Long run

15. In a market economy

(A) Demand determines supply
and in turn supply determines
prices

(B) Supply determines demand and
in turn, demand determines
prices

(C) Supply and demand determine
prices and prices in turn, allocate
the economy’s scarce resources

(D) The allocation of scarce resources
determines prices and prices
in turn determine supply and
demand

16. When a firm operates with excess
capacity

(A) It must be perfectly competitive
firm

(B) It must be monopolitically
competitive firm

(C) Additional production would
increase the average total cost

(D} Additional production would

14, ol Aouniell 56 yle Rsicol As
el otefl ?
(A) cglisll deetal

(B) Actol Frd ofl uRadot amc
(C) UEARBA A%
(D) aicll aual

15. As 6912 Wl Hi

(A) HOUglRL Yrasl of Rulel e B
U GEAML Yast gLl Brdle
[Aud20t e &

(B) YRSl Gl HIdle] U (EAML
HdLGIRL BHdle] Auie sa

(C) Yrasl AU Hidl Budle] Rulzel 53
8, vl GEAHL (BHA Wl dtatl
R Aol sianaal 52 B

(D) {lAd wtellall stacll Bud osl
53 8 wal sl Bl Yrasl wa
Hiole] iz 52 B

16. AR As UG aulpAd axa
5] 52 B, U
(4) d As Y edse wrnadl A&l d
SR

(B) d As s &3l518 unadl )
slllxegul

(C) atlRell Geuteatell P2 $E
Wl aual

(D) atlilell Geutestell uRAA 5¢
W «ed

decrease the average total cost
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17. The classical macroeconomic model
rests on the assumption that

(A) Wages are flexible but prices are
rigid

(B) Wages are rigid but prices are
flexible

(C) Wages and prices are perfectly
flexible

(D) Both wages and prices are rigid

18. Keynesian consumption function is

written as
(A) A=a+by (B) C=a+by
(C) C=a+xy (D) Y=a+by

19. Marginal efficiency of capital is
the highest rate of return from an
additional unit of a

(A) Fixed asset over its cost
(B) Floating asset over its cost
(C) Capital asset over its cost

(D) Variable asset over its cost

20. In demand for money, Fisher’s
equation of exchange is expressed
as

(A) MV=PT
(B) MV=TT
(C) VM = PP
(D) PP=PT

17.

18.

19.

20.

yRlreurlRaall 3 A el

UR VR AW B %

() Actell uRadstelldt B uq (Budl
a3 8

(B) Actoll 4@ & U (BHA
uRadetelld ®

(C) Actoll Aal Bucl Aygudl
URadetella &

(D) Actell WA FHA Cidl 43 &

3eS(eReled AR {afaa
(A) A=a+hby (B) C=a+by
(C) C=a+Xxy (D) Y=a+by

w A dula 8.

43l oll Almict stafecn A
(A) WA 5cll RAR vUSAHell U
clellRlell WSH

(B) Wl 5cll yeudlAusAM Al S
ARl AsH

(C) Aol w2 5l Il HUSAMAUUS
LRl ASH,

(D) Aot WA 5l Ul waAsAdstl
s culpelt AsH

gl Ul ad el ay HAdR B

stRliell Hiot 12 , (Barel Al
ol Als20 .
(A) MV=PT
(B) MV=TT
(C) VM = PP
(D) PP=PT
gial eallaua 8,

I



21. What is the degrees of freedom in a | 21. A5 w0 QGuclla Rad deiw, 3

iﬁfgﬁi‘éigfﬁe regression with 100 Ful wsololl Wy 1008 Au
' el toll 1o Secfl uf ?

(A) 100 (A} 100

(B} 99 (B) ¢¢

(C) 98 (C) €¢

(D) None of the above (D) GuMigl A ol&l

22. Valueofthe coefficientofdetermination | 9. [Qul2Qle1t 81ls R2o(l

R*is Buct 3ecll da d ?
{A) equal to 1 A) 1 zcll
(B) =1 B) > 1
(€} O (C) O
(D) O a1 ol 2

(D) between 0 and 1

23. Which one of the following is correct | 23. As Buel [Qdet w2 lAcunisl

for a Binomial Distribution ? R UY D ?
(A) Mean = Variance (A) He2ls = [a\u?Ql
(B) Mean > Variance (B) HraLs > (AW

(C) Heas < [Qurul
(D) Heals < (ARt

(C} Mean < Variance

(D) Mean < Variance
24. A statement about a population, | 24. udlag He dar saml wadl,

developed for testing is called AHER idlewl As Quiet

(A) Hypothesis (A) uRscuetll
(B) URscusl uilawl
€) Qauusla vdut

{(B) Hypothesis testing
(C) Confidence interval

(D) udlawiell e scodl seu
(D) Significance level of test 53 B
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25.

26.

27.

The coefficient of determination RZ
shows

(A) Proportion of the variation in the
dependent variable Y, explained
by the independent variable X

(B) Proportion of the variation in the
dependent variable X, explained
by the independent variable Y

(C) Proportion of the variation in the
dependent variable U, explained
by the independent variable X

(D) Both (A) and (C)

Which of the following sampling
method should be used, when the
population is not homogenous ?

(A) Simple Random Sampling

(B) Stratified Sampling

(C) Systematic Sampling

(D) None of the above

Statement A : Pooled data imply

combination of time series and
cross-section data.

Statement B : Panel data is a special
type of pooled data in which the same
cross section unit is surveyed over
time.

(A) Only A is correct
(B) Only B is correct
(C) Both A and B are wrong

(D) Both A and B are correct

25.

26.

27.

[Auiel oais R
(A) A& UARAR YU Uctt 32514

YHIGL ¥ % 2 AR X a2l
wmostell atsta 8

(B) AU AAAQ X Ul udl Y2513\ o
YHIRL ¥ % (208l UARLE Yt
unsicll asta B

(C) WA UARR U i audi
%8130e] WML ¥ @ [l
AARE X g1l Wl asta d

(D) (A)ctaL(C)oial

AR AHR Us3IU of Sl AR
(Aot Hig] 56 Aelot uslQoll

Gualldt 5 RGN ?
(A) ROAE W Lleslat

(B) ¥R [Aeslat
(C) ales Redal
(D) GuReMiell 518 ol

@Quust A: AsAA wisst N2
AHRs Al e yQREs

(e 9lof 2Doget

Qule B : Vol 2dissL A QRN
Ysielt AsOlc wisst B ¥ i As o

YAL@s AsHell unauefu Wesell.
SCUHL A B

(A) $5ct (Quuet A Y B
(B) $5cl [Qtuol Bz &
(C) ol [Qulsll A 2l B Wlat B
(D) ofa [Qulell A &l B L B
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28. Multicollinearity is essentially a
(A) Sample phenomenon
(B} Population phenomenon
(C) Both (A) and (B)

(D) Either (A) or (B)

29. What is the meaning of
‘heteroscedasticity’ ?

(A} The variance of the error terms is

not constant

(B} The variance of the dependent

variable is not constant

(C) The errors are not linearly

independent of one another

(D) The errors have non-zero mean

30. The order condition for exact
identification of a reduced Form

equation is

(A) K-m<G-1
B) K-m=G-1
C)K-m>G-1

(D} None of the above

28, GgAUAUHUA clzclan

(A) (el uesll
(B} xR weell
(C) (A) dauL (B)uia

(D) sl Al (A)maal (B) ueail &

29. ‘Qx (Quel ol wel g B ?

A) 3RUEl o Quw wu ol

(B) WA AR of [QAuel 21U Yl

(C) JRUEL As ollont YA YIU 2t
otell

(D) ARUEA s 9eAc? B

30. U5 clRalcllHl MU (reduced form)

aHls200 ol AN o]l seuell 2R

(A) K-m<G-1
B)K-m=G-1
(C) K-m>G-1

(D) Gureltiell A1 «8l, &
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31.

32.

33.

If n(A), n(B), n(AuB) and n {ANB)
show the number of elements in

these sets respectively, then

(A} n(AUB) = n(A) + n(B) - n(ANB)
(B) n(AUB) = n(A} + n(B)
(C) n(AUB) = n(A) + n(B) + n(A"B)

(D) None of the above

The Cobb-Douglass production
function is represented by

Pa oy
IXS -e

(A) ¥; =B x5

(B) ¥; =Bo +P1xy.%5.€"
(C) ¥; =PBiXq; Xz; +€™

(D} Yi= le21 X31 y;

Econometrics is concerned with

(A) Empirical Support to Economic
Theory

(B) Quantitative Analysis of Economic
Data

(C) Use of Tools of Mathematics and
Statistical Inference

(D) All of the above

31.

32.

33.

%l n(A), n(B), n(AUB) wa n (ANB)
BlofsA A AGIHL ¥l wesloll dvan
gald

(A) n{AUB) = n(A) + n(B) - n(AnB)
(B) n(AuB) = n{A) + n(B)
(C) n(AuB) = n(A) + n(B) + n(AnB)

(D) GuHigll 88 o1&l

Sl - octM Geulest (AR 2L ol Aattniell
s94lA colenta ® ?

(A) ¥i= Bi-ng-ng €%
(B) Vi =Bo +PBXp-X5.€™
(C) ¥; =B1Xqp X3 +€7

(D) yi= le21 X31 ,

AR Aeustell Hoiy

(A) 2Es Rgict WA Yot

(B) wlels wisstull ol URHRUHS
- [AQeQuml

(C) Rctaut val wissisla vigHietall
uglaullett Gurlat

(D) GURell dAHIH, WA B
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34.

35.

36.

For the demand and supply functions,
D=10-pand S = 3p - 2 respectively,
the equilibrium price and quantity

are respectively
(A) 6 and 4
{(B) 5and 5
(C) 7and 3

(D) 3 and 7

Who invented technique of

input-output analysis ?
(A) Hawkins - Simon
(B} Sammuelson

(C) W. W. Leontief

(D) Nurkse

In the case of concave production
possibility Frontier, the opportunity
cost of producing an additional unit
of X-good interms of Y-good will be

(A) Zero
(B) Constant
{C) Increasing

(D) Decreasing

34.

35.

36.

HioL dal yrast [QBD agsA
D=10-p WA S = 3p — 2 HIZ, UHdCU
ofl Bad ol wesll ejsR

(A) & ua ¥
(B) L Aa U
(C) S U3

D) 39D

Geuleeat el [QeANRLell ugldell
sl 518 s el ?

(A) Aot A UBHo

(B) Ajulciet

(C) U SUE. [Auldls
(D) a5

vddlln Gauteet guselcll AlHietl
Bl , azq Y ott AU, dRd Xell
s quRlell WsH B2l Gauleat HIZall
dsl@s v

(A) Yot
(B) Aun
(C) atdl %dl

(D) a2l %l
gl 8
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37.

38.

39.

The economist who reformulated
the Ricardian theory of comparative
advantage using the principle of
‘Opportunity Cost’ is

(A) Adam Smith

(B) J. S. Mill

(C) Gottiried Haberler

(D) Taussig

In which of the following imperfect

competition trade model, the goods
are horizontally differentiated ?

(A) Falvey’s model

(B) Krugman’s model

(C) Shaked and Sutton’s model

(D) Brander’s model

The sum of the Current Account and

the Net Balance on long-term capital
is known as

(A) Trade Balance
(B} Below the Line Balance
(C) Capital Account Balance

(D) The Basic Balance

37.

38.

39.

‘dscufls Wl ot Rgiietl Gullol
ad deolieds cldell Asislaa
Rgiciell Yueu 50t wusdauxll

(A) weH e
(B) ®. A Mat
(C) dU2HBS SLARAR

(D) ARt

ol Aotniell ol senuyy 649E canw
W3 Hi, a2l AHdet & wue 3la
VAL WISUHL ud B

(A) sledo] M
(B) $oHel HIdet

(C) ABS vlal Ylolo] M3A

(D) olie52e] M3

UG WLt Al cioll duoell 3Sloll
Al Rcts ol yRawo

(A) caurk Rets
(B) it «{lA Rty
(€) 43l vitdlell Res
(D) et Ras

58 B
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40.

41.

42.

An increase in the domestic money

supply causes

{A) Depreciation of domestic

currency
(B) Increase in the rate of interest
(C) Depreciation of foreign currency

(D) Fall in the domestic price level

If forward exchange currency rate
is higher than the spot exchange
currency rate, then there is

(A) Discount on foreign currency
(B) Premium on foreign currency

(C) Foreign currency will be
cheaper

(D) Domestic currency will be

cheaper

The concept of terms of trade used in
offer curve technique is termed as

(A) Gross Barter Terms of Trade
(B) Net Barter Terms of Trade
(C) Income Terms of Trade

(D) Single factoral Terms of Trade

40. dq ol YaASIHL Ul atltAa 518

(A) UG AAQHT LR
(B) cuogell £HL (&
(C) [@zell ucta 1 a3l

(D) uR¢ ellel Awdlul waLst

qA &

41. % AR QlRAHA UARL €2, dslA

QAHA UARL €2 52l ay .
(A) (QZell uctyi we 1A B
(B) @20l uctge] @y W

(C) @Rell AUt ay ] o B

(D) UG AAQL dAY U olal B

42, Yclld o5 YaldHi 2ol Gualol

sclHl ]l B A el
R clell WA

(A) $C ‘R (QAH calwedl aRAl
(B) Al ‘arg @AMy iR ofl 2RAl
(C) el vuas 2dAl

(D) As ues calwedl Al

58 8
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43.

a4,

45.

46.

Which of the following is considered
to be the honest method of giving
protection to domestic industry ?

(A) Quota
(B) Import subsidies
(C) Tariff on imports

(D) Exchange control

Which was the last round of trade
negotiations under GATT ?

(A) The Geneva Round -

(B) The Tokyo Round

(C) The Dillon Round

(D) The Uruguay Round

When did the Plaza Accord take place ?
(A) 1985 (B) 1987
(C) 1971 (D) 1960

A Public good is

(A) Non-excludable and non-rival
(B) Excludable and non-rival

(C) Non-excludable and rival

(D) Excludable and rival

43.

44.

45.

46.

oflActtmiell 58 usld, uRe Grlola
280l vual Hizolt As yHIRls ugld
oRu 8 ?

(A) scllet
(B) allalcd ¢l

(C) a2 UR *¥slcd
(D) QlAxa u? 2iga

GATT 360 calulR dletul2lell Seel
ABoS 52l &cll ?

(A) %ol AGes
(B) 2320 2ABGes
(C) Sletel ABeS

(D) G3od 2AGeS

sl o, W eltost aHycdl ue ol ?

(A) et (B) 1€
(C) 1€ (D) €S0
A %@ ]

(A) oltsicd o 531 asta Adl wua et
 yldeudl sla &

(B) sl 521 ast Adl v @t
ylautll a1 &

(©) cusict ot 53 asiat Acl wa
Yludl uRdel u 8

D) cistd 531 astat Acll U yldrul
Aol s B




47. Which of the following function of the
State was not suggested by Musgrave

to overcome ‘market failure’ ?
(A) Allocative

(B) Distributive

(C) Stabilisation

(D) Pump priming

48. Horizontal equity in taxation implies
that

(A} People with different ability have
to pay the same tax

(B) People with greater ability have
to pay more tax

(C) People with equal capacity have
to pay different taxes

(D) People with equal capacity have
to pay the same tax

49. The cannon of equity can be satisfied
by

{A) Proportional taxation
(B) Progressive taxation
(C) Regressive taxation
(D} Lump sum taxation

50. Which of the following is the indirect
tax ?

(A) Estate duty
(B) Income tax
(C) Goods and services tax
(D) Wealth tax

47, ‘ooe(l [rsadl’ o §2 sa HI2 Hu)a,
Al Aol AU sl s12le] YUsl
53 olgd ?
A) siacglle]
B) Rdzee]
(C) RAclLof

(D) HEloll MU g12Ulel WA
Uldlset wluclt HiZetl UdlEle]

48. $2ARHI @R AHIAR AMLatcllall

wud W B3
(A) QA sl uRnctedl ASIRA UMl

ARl el W3
(B) Ay aMdl uRladl AL ay
52 Rl U3

(C) MLl 8HAL YA ALSIA UEAL
AU 52 MR U3

(D) ¥vll &HAl YRl AR
AsuHlal 52 ¢ U

49. AHlatcll/ [Asueid ot Retoct of Wetet
(A) YHWQRReL  5RARL
B) [Asella sa2L
(C) ulouHl saRL

(D) Gus sd?U
gLl UL Ak 8.

50. o{lAoitHiefl sl 52, USSR 52 B ?
(A) vlre syl
(B) ulets ARl
(C) cizd el Aall 8

(D) Aukt a2
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51.

52.

S53.

54,

The principle of maximum social
advantage is concerned with

(A) Taxation

{B) Public expenditure

(C) Public debt

(D} Both taxation and public
expenditure

Which of the following comes under

development expenditure ?

{A) Subsidies

(B) Interest payments

(C) Infrastructure expenditure

(D) Salaries of government

employees

Bonds floated by a country to raise
capital for the construction of a
railway track is the example of

(A) Production debt

(B) Unproductive debt

(C) Short-term debt

(D) External debt

The burden of public debt is defined

as

(A) GDP - Public debt
(B) GDP + Public debt

(C) Public debt + GDP

(D) GDP + Public debt

51. HedH AHIRS et ol Rgid

(A) 524321

(B) %182 w3l

(C) &R Eal

(D) $20RL dal %&2 W3 oia
Al olu yd B,

52. oflAamisll 5y ‘@siy vl ds01

A B ?

(A) el

(B) caleoll ysagll

(C) Walell YU udeQ Wi
(D) Rs8t3 sHUR A wouR

53. A5 A HPOT dauz sal HI2 Sl As

£ o Wi Y3eu olles, A
(A) Geules Eq

(B) @aGcules tq
(C) g5l oUoue] &g

(D) oua tg
of GELEW B,

54. 32 Lclloll ol ofl cauey

(A) GDP - 032 tq

(B) GDP + 82 &g

(C) &2 ¢ +~ GDP

(D) GDP + 2182 &g
!




SS5.

56.

57.

58.

To control inflation, the government
should

(A) Reduce the tax rates

(B) Impose new taxes

(C) Increase public expenditure
(D) Repay the public debt

The Central Bank can significantly
influence the savings, investment and
consumer spending in the economy
through which of the following policy ?

{(A) Fiscal policy

(B} Monetary policy

(C) Industrial policy

(D) Foreign exchange policy

SWIFT stands for

(A) Society for Worldwide Inter-bank
Fund Transfer

(B} Society for Worldwide Inter-bank
Fast Transaction

(C) Society for Worldwide Inter-bank
Financial Tele-communications

(D} None of the above

Which one of the following ratios are
taken into consideration by a banker
before sanctioning the loan ?

(A) Proprietary ratio
(B) Stock-turnover ratio
(C) Debt-equity ratio

(D) Current ratio

55.

56.

57.

58.

golcl BgaAMi Aol M2, URBR

(A) 52t €3 taLsal ASA
(B) olcll §3L oliwall A

(C) 32 w2l quRA AR
(D) 32 Eq Ysa 539 HFA

Aot ni el 58 oA 131, Bodl2e Glos
it ol olud , YRS ua
ALEHolt WL U W 53 wF B ?

(a) A5l -0

(B) satigla «lA
(©) eBls <0l
D) @2l sl <l

SWIFT 3 Q<f ¢ 3u 8

(a) AU 52 act s Bee? 65
5 gtod %R

(B) a2l SR acd alesss Bee A
122 2L

(©) Amadl 82 acd ags a2 ols
siellenud 2l suyRlaau

(D) GuReuHiell 81 ol

Aot 1R 5cll UBEL, W ClaBR
ol Aectiiell sl oJellcizal tRllot
wWwas ?

@) Nyauedl el

(B) €\5-2alallaR JRliR

(C) tg-8EALl opeeiR

(D) yetcirtet AR
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59. Which of the following method is
indicated the quantitative methods
of control of credit creation practiced
by the RBI ?

(A) Bank Rate
(B) Open Market Operation
(C) Variable Reserve Ratio
(D) Credit Rationing
60. The operations of banks and financial
institutions are regulated by

(A) The Reserve Bank of India
Act, 1934

{B) The Banking Regulation
Act, 1949

(C) Information Technology
Act, 2000

(D) The Companies Act, 2013

61. Which of the following Committee is
related to investors protection ?

(A) Bhagwati Committee
(B) N. K. Mitra Committee
(€} J. R. Verma Committee

(D) L. C. Gupta Committee

59. Rord ols s SR szt , @Rl
Yool 2igat HIE GuloHl Aayell
WRHIQUHS UK N Aouniell 56
ugldell Guaot ez B

(A) Aos €2
(B) vcclt ettt siall

(C) AEUHLe WetlHA O tR
(D) efeatelt Hiuolitl

60. olosl Wl cllRlislaL draydletl st uR

(A) UABd Alos s BB A2, 163 ¥
(B) cllcHat 2RjAgtetl Ase,1c¥¢
(C) BogH 2lol 25allAl%Y V52,2000

(D} & SucllosAse, 2043

g2l RaHad i B,

61. oA wAcll ARR2Anuie 5¢8
ARE, ySlAsitstAot 2@
A2 Aoy YgnA B 2

(A) etadl uR@
(B) e, 3. Moy wAR
(C) . R, aul aBA[A

(D) At Lot wAQ

R
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62.

63.

64.

The main motive of SARFAESI Act,
2002 was

(A) Banks realise their dues without

intervention of courts and
tribunals

(B) Banks realise their NPAs without
intervention of the RBI

(C) Banks realise their deposits
without intervention of the Central
Bank

(D) None of the above

In call/notice money market, which
of the following participants is allowed
to trade ?

(A) All banks and financial
institutions

(B) All Corporates
(C) Only Commercial Banks

(D) All Insurance Companies

Stock Holding Corporation of India
Limited has been sponsored by

(A) IDBI

(B) IFCI

(C) ICICI

(D) All of the above

62.

63.

64.

SARFAESI ACT, 2002 ¢l Yyl &d,

(A) ST ua Floyetclletl et [Aotl
oSl Wellell allQll Al a¥

(B) RBI oil $3l@U [Qotl clo8l Welloll
NPA Aol u3

() VAzcd Aosoll EARU (Aol GloBl
Wetell auel Aadl u43

(D) GuRsinigll S «dl

Slet/aARH Rl WML, ol Aoitniell

sl dsewdllal Auwrell wetotoll
BULHL WA B

(A) AHIH oloBl el [Qrllal el
(B) ctHH SlUlRe™
(C) 55t clldet olodl

(D) i <l sus{lzA

®ls Aeslo sldlRalet Alg Soslall
(a) A Lol 218

B) 2 Ag Al 2w

(€) S A we A e

(D) GURell cHIH 4R WAWA D

by
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65.

66.

67.

The practice of buying and selling
stocks, bonds or other securities
based on material information not
accessed by public is

(A) Stock trading
(B) Insider trading
(C) Public trading

(D) Broker trading

Sustained rise in the per capita real
GNP of the people in a country over
a long period of time indicates

{A) Economic development
(B) Economic growth

(C) Sustainable development
(D) Human development

The term ‘Stationary State’ is

associated with whose theory of

economic growth ?
(A) Ricardo
(B) Rostow

(C) Harrod - Domar

(D} Karl Marx

N

65.

66.

67.

3R Folcdll M2 B Aot HRA
WY B, A gl L5, 6llos ¥ oA
S Hloto(Fl wledl ¥ Aucll Ax

(A) ®ls gl
(B) selal8ysR 28lo1
(€C) odz 2sloL

(D) olls2 28lot
56 B

As ol auou Yl As Ealol Aslell
WAL€ls GNP 1 ddd Al ¥A gEa

(A) 2ulls (st
(B) 2ulels gfER
(C) 251G (s

(D) Hlotal A5
galld B,

‘REARA A UE, el W5 gER
W3Nell Rtlod WA Aol & ?

(A) RsLsl
(B) el
(C) &35 — SIHIR

(D) sl s
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68.

69.

71.

The term ‘knife edged equilibrium’ is
associated with

(A) Schumpeter model of growth

(B) Rostow model of growth

(C) Harrod - Domar models of

grwoth
(D) Solow model of growth

The economist who emphasized the
importance of embodied technical
progress was

(A) Marshall

{B) J. M. Keynes
(C) Rostow

(D) Robert Solow

. The first human development index

was released by UNDP in the year

(A) 1990 (B) 1995

(C) 2000 (D) 2005

Which of the following was not
included in the four essential
non-food items in the computation of
poverty line by the Rangarajan Expert
group on poverty ?

(A} Education (B) Recreation

(C) Clothing (D) Housing

68.

69.

70.

71.

“Uy ofl iR el g, w
uelacll, stoll WA oiu UAA B ?

(a) ddlerd] gle Wdet

(B) Axdlele] gld 3t
©) 9 o 825 - SR M3t

(D) gla H2ef WA W3

elldls 2slAsel [@statell wotRtcl U2
ERFEEERTDETEC

(a) Held
(B) B UM, 3y
(C) Al

(D) Awe AA
8.

UNDP 612 YRe A yun Hlotg

[@stu wis ay
(A) 1€€0 (B) t€eu
(C) 2000 (D) 2004

Hl yRg u=0 sdl.

Ao Uell WAL AWt U
g1t otdlell 2vitell oAl m2ell iR
wolelofl, welR Ratatell ardulnis

ol AetHil ol YHIA ScLH]
vlle2] olell ?

(A) Qe (B) wloie YHlE

(C) susl (D) 2éslQ

r e
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72.

73.

74.

75.

In India, majority of studies on
inequality depend on the data
collected by

(A) CSO

(B) NSSO

(C} NCAER

(D) Income Tax Department

The PQLI developed by Morris D.
Morris does not take into account
(A) Literacy

(B) Infant mortality

(C) Maternal mortality

(D) Life expectancy

The pattern of education in the New
Education Policy, 2020 is

(A) 11 +1+3

(B) 10+2+3

(C) 5+4+3+3

D) 5+3+3+4

The New Education Policy, 2020

extends the right to education from
the age of

(A) S years to 10 years
(B} 10 years to 14 years
(C) 14 years to 18 years

(D) 15 years to 18 years

72.

73.

74.

75.

Mld Ml , wAMotcdl Gue{l e
Aol
() d3AA

(B) At
(€) AeiARATUR

(D) ilels Azl [Qewot
gl WS wisst U Ul &,

R S ARY gL [@suicudel PQLI M
(A) aRA
(B) @y Hye?

(C) Hlcl HRYER
(D) HABA aiet
talletHi Aalld el

ojcdet Blatgl <l , 2020 Ui Qaw < 1

A&
{A) 2L+9+3

(B) 10++3
(C) U+¥+3+3

(D) W+3+3+% B,

ay 2020 ofl ol Blawal A, 565 ax
ol Qe ol &5 20 & ?

A) W et ol 10 ad

@) 10 ad ol 1% ad
(C) 1¥ ax &l 1¢ ad
(D) au ay ol 1¢ ay



76. The rationale behind the Pigouvian

fee is that the social cost of pollution
to the polluter is

(A) In excess of the private cost
(B) Less than the private cost
(C) Equal to the private cost

(D) One fourth of the private cost

77. The Coase theorem assumed
(A) Existence of transaction cost
(B) Zero transaction cost

(C) That the transaction cost is
positively related to the production
cost

(D) That the transaction cost
is negatively related to the
production cost

78. The successful rent seeking leads
to

(A) Reduction in the net benefits
going to the special interest
groups

(B) Increase in the net benefits to the
society as a whole

(C) Reduction in the net benefits to
the society as a whole

(D) Unpredictable situation with
regard to net benefits

76. [ojcllautot Sl wsnall b A B 5,
YENBL $6lt? HI2 YENQLell ol

AHEs W

(A) wlotoll WA scdlay &
(B) Wetdll Wl s2cli 20g B

(©) wiotoll Wl P2l B
(D) ool w2 sl Wan eidtall B

7. S uRAA wRRUA B ¥
(A) Aas tas W R« YA B

(B) Aas £as W gou B

(C) Aas tas W3], Gaulgest W A
tolleHs dla qelld B

(D) Aas tas Wi, Gauea Wl wd
HRUMS ld el B

78, sl ANl ASM Y Gl
(A) (A% U URAAUALENA HOLAL
Aqluny clellHl aatsl

(B} HHIL UMl HALAL v
GGl LA

(C) UHIL AHIXA HAlell AL
oMl uaLst

(D) Aval ALell B3 2218l o 531
alstal Aol dosloll el HA 8
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79. Which of the following statements is 79, ol AettHisll 52 @Qullol Ay ol2l?

not true ?
(A) An externality can occur in (A) duRld 5 GeulEotil ClLEL AUURA
consumption or production. us a3
" "
(B} Externalities cag e created hy a (B) As G ¥ As AS L2l
person or by a firm. lElL AUHR U sl

(C) Externalities are created without

the permission of other affected (C) U AUARAA Aslell wreuoll

(Aol cilal AU Hofal v 8

entities
(D) The generator of externalities (D) CUEL AU UEL 5Rel1R, $HaU ellaL
always compensates the losses tlototli2le] ofsllel GRWE 53 B

of the suffers.

80. The third UN Conference on 80. 251G [Ast el Al Yot URNE
sustainable development was held
in the year (A) 1eeR (B) 200
(A) 1992 (B) 2002 (C) 204R (D) 2021
(C) 2012 (D) 2021 Hi A &cll

81. The terms ‘positive checks’ and | 81. ‘Yol Vg’ wa ‘etz s ﬂg%ﬂ’QR‘ﬂ

‘preventive checks’ are associated el sl Rgict WA Aoi@d B 7
with which theory of population ?

(A) ey Raet Rgid
(A) Malthusian theory )

(B) Optimum population theory (B) i dll Rsid

(C) Theory of demographic () arcllanalla disH Reid
transition

(D) Theory of demographic dividend (D) axcllauallal clletigtetl ot Rgict
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83.

84.

85.

Identify the concepts that are not
related to the fertility rates of the
population.
(A) TFR (B) GRR

(C} CDR (D) CBR

The Largest Age Cohort in India is
(A) 05 — 09 years

(B) 10 — 14 years

(C) 15 - 19 years

(D) 20 - 24 years

For analysis of large sample data in

survival analysis, which method is
preferred ?

{A) The life table method

(B) Kaplan - Meier product limit
method

(C) Interpolation
(D) Linear regression
According to 2011 Indian census,

which is the least common type of
migration ?

(A) From urban to urban areas
(B) From urban to rural areas
(C) From rural to rural areas

(D) From rural to urban areas

82, daclloll Yool £31 WA AoilRad
ol 8la dal vauel saul

(A) BlsuR (B) DURMR

(€) AR (D) Aleflauz

83. el dlell [Aaun az 2y

(A) OU - 0¢ a¥
(B} 10 — 1% oy
(C) W - ¢ ay

(D) 20 — 2% a¥ B.

Gt [QeAneHl, Qauan Gesl
wisslell  (QaAnEl M2 58 ugld
RLE sl wWld B P

(A) Wt ses uald

84.

(B} siicllet-Ae5R Ulsse clldle usld
(C) yau

(D) YW ([AaAd 2oin

ad 2099 ofl eudlal atoweil

Hosol AN AR sell Wlell e
ysi? Rl 8 ?

(A) 233 [QectiAell 234l Qacu
(B) 233l (Al o [Qaeitd

85.

(C) v ARl aval QR
(D) b QA 23l (@
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86.

87.

88,

89.

As per the UNCTAD Report, 2021

India’s economic growth during 2021
will be

(A} 6.5 percent (B) 6.9 percent

(C) 7.2 percent (D) 8.2 percent

A long and healthy life as measured
by life expectancy at birth is known
as

(A) Population index
(B} Life development index
(C) Human development index

(D) Urban population index

As per the Industrial Policy, 1956
the classification of new industries
consist of

(A) One group only
(B) Three groups only
(C) Two groups only
(D) Five groups only

Which of the following Act replaces
the Monopolies and Restrictive Trade
Practices Act, 1969 ?

(A) Competition Act, 2002
(B) The RBI Act, 1934

(C) The Banking Regulation
Act, 1949

(D) Insurance Business
(Nationalisation) Act, 1972

86. UNCTAD ol <t 2031 oll 4dalled
Yorol, ay 20R% €312Ul0t GllRetoll

WEls glgell €2

(A) 5. st

(C) 9.2 25l
Bedl ¥4l

(B) s.¢ 25l
(D) ¢.? 2sl

87, oHUHA AUWB AULCREL §IRL
Bof HIUA A B A BsEld U

dgd Waota

(A) axcluis

(B} %clol [As1 s

(C) Hlotel [Asl s

(D) 233 cixcll uis
58 8.

g8. ay 1cus ol WAL ollQ ywud
olcll @ellolletl callsel Ui
(A) 55ct W5 ¥ ¥U
(B) Sl AQ el
(C) ¥t A %Al
(D) &5ct WA A «ll
wHLde a8

89. Saaudl uat YAoikld caiul? caast

el a 165¢ otl SlAEL] &l ,
Al Acuniell =l sluel A B ?
(A) ylzuul stejet, 2002

(B) wR.oll.uus siojet, 1€3%

(C) @ ollsHoL YAt Slojat, 1C¥E

(D) cflHl el U (Axglaus20L)
Slojol, 16VR



-

90.

91.

92.

93.

SIDBI was set-up as a subsidiary of
IDBI to

(A) Takeover the functions of small

business financing of IDBI

(B) Takeover the venture capital

operations of ICICI

(C) Reconstructs the sick units
financed by IDBI

(D) Facilitate, finance and promote

India’s foreign trade

The improved definition for measuring
poverty in India was suggested by

(A) Mr. Narasimhan

(B} Prof. Suresh D. Tendulkar
(C) Mr. H. R. Khan

(D) Dr. Manmohan Singh

The National Rural Employment
Guarantee Act came into force in

(A) 2001 (B) 2010
(C) 2006 (D) 1996

The concept of Parallel Economy is
also called as

(A) Illegal economy
(B} Unsanctional economy

(C) Unaccounted economy
(D) All of the above

90. wR.ofl.auy ol As el siuedl d4l3

B sstelluuy ol 2@us
(A) AU SolueSoll olioll tituullal
BRL U clloll sl e Qe HER
(B) ausAlauslaus ot Gan Yo
Vol stAl sl S HER

(C) wSSloflaus sl Pua ol
AU HL 2] 8l A Hiel
Asiloll Yot R¥Usll  HI2

(D) Rd ol (A2l ctuRa A

Goflelall HIZ , AHal elSla Y3
wWSlal Gaosel videll HIR
scltHi vl sl

91. HURAML toudetl Hust Hizell YuiRell

S
(A) 3l Rset
(B) Ul Yo sl dgets?
(C) 2l 2 1R vitet
(D) S Hetleet Rl
gL Yuaai well ed,

92, A2l Y2 A% IRE siojet, ol

(A) 2001 (B) R010
(C) R00¢% (D) 1€c€s
Ui vHEAL ool 5.

93. MR WA dA ol vlAA

(A) ARsIALURe] Wl
(B) vrcllscd welda

(©) @etlduioll st
(D} GuRell U

upl sda 8.



94, The condition where too many workers | g4, %2cil %331 Slal doll sl dy SIHELRL

who are employed in a particular job A8 Qs AWssu slMl sl vl
than the actual requirement is called A Adl URRAQ A

' ey Aaaudl

(A) Under employment (A)

(B) AUl

(B) Over employment

(C) AUl

(D) AL Aewoudt
(D) Less employment 53 B.

(C) Unemployment

95. The sale of goods or provision of | 95. W s2cugl el B drell Queunl

services, at a price which is below 2 el Aczd Yl wscuni 3ud
cost is termed as dal
(A) Cost plus pricing (&) wal art (Fud [l

B) cerllell Bud Rula
(©) audll ¥q Bud Rule
D) dlea G Redw

58 B.

96. The introduction of derivatives | gg. AWl 25 WAy sl A
trading by National Stock Exchange 391adlcos i Auiell idet 52l ?

was in the year
(A) 2000 (B) 2002 (A) 2000 (B) 2002
() 200U (D) 2008

(C) 2005 (D) 2007

(B) Predatory price
(C) Skimming pricing

(D) Penetration pricing

97. The basic aim of Lead Bank Scheme | 97. cllstles al¥etloll YRejd &d

' (A) A5 et AR Ul AHeA
(A) Coordinating credit deployment Altlcllell
in a District

[ 2R
(B) Coordinating loan facility in a (B) s A% 2 wuclisll

State A2l AHot SRcltoll

(C) Coordination credit facility in a (C) tal tflRugl idefl UdLAfe] dAseat
Country s2cllell

(D) Qoordinating credit_ deployment (D) A 52l ay o) CALDUML tﬂ?t@,l
in more than two Districts UM ASEol $clell B
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98. Development financial institutions

consist of

(A) IFCI and ICICI
(B) SFCs and IDBI
(C) IIBI and UTI

(D) All of the above

99, The place where stocks and shares
and other long-term commitments or

investments are bought and sold
(A) Bond Market
(B) Stock Exchange
(C) Commodity Market
(D} Derivative Market

100. The investment management activity
of a mutual fund is managed by the
(A) Trustees
(B) Sponsors
(C) Asset Management Companies

(D) Custodians
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